S#9 #r A4
a) 4*=12 = X log(4) = Log(12) = x = éj—(-—ff-)zf,?'ﬂz

6) 2,8%= 3,9 © x.Log(2,9)=los (3,9) > x = LosC(39)_ ¢ 555
log (2,4) ~ L=

<) 1,147 0,22 y los(115)=los (0,) > s - L2227 x g 94,

d) 0,45 %2 49 5 2 lo5(035) = Los(1,9) = 7 - /’fﬂ’”z-aza’oé
(55 (055)

/55 (370

F) 4,66 = 085 3x log(496) = Lo (03) > 3x= Loal08) . los(4D)
/05 (1,5) 3 [0_)'[//”)

Xz -0,797

q) 6277 49 9 <x-log(8,2) <Lo5(4,9) 2 x= LosC8)
1 logls,n) = 29758

h) 5‘6-“- 1,% lo (74)
6 = 4h 9 ~Tx - los(Sih)=log(18) D s - L25L7% . _
S > b 0,098

[) 2.3)(: 1,4 = 3X= _{_;.i = X /oj(’S): laf(%i)'?X: /ﬂj[@ﬁ 3‘Q.3_2£

107(3)
J) 0.9-4,4%= 3,2 > 7% 3L o 5. (o[22

’ los C14) —




